log AY/Y)

log (Y/AY)

LABJNDu7-Dreieckshelligkeit t*
Ync_YW nc_loox

t* LaBINDU7 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t(3.6)=174 1* ,(18)=396t*(90)=616

* =49, t* =39¢

t =613, 73 Al
L
143,671 73,94 tA=3¢

Iog(AY) LABJINDu7

N% Normfarbwertdifferenz
Yoc=Yw - nc=100,
L ABaNDU7=[IN[(A 10+A2RY)V(A 20A 0n)] (Yad/100<Y<=Y0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Ao a=1,0, siehe CIE 230:2019
dYge=0,68, P()n 1,500, ¢=0,84
dY;¢=0,15, A =0,017, A,=0,00/8 .
dY3,6=0,05 Y,=18, dY=0,45 -

bereich
1y,=18
Ya=3,6  Yy=90

LABJINDu7

. Normfarbwertemfindlichkeit

SHEYY Yoc=Yw - nc=100,

tLaganDu7=[IN[(A 1n+A2n V(A 2rA0n)] (Yac/100<Y<=Y,o)

dY/Y=AgrfA 1+AgnYIY
(dY/Ypo=0.6275. Ay=1,500, ¢=0,84
(AYM=0L 8T, Aruoir, A=0,0048
(dY/Y},=0,0143 V.=18, dY=0,15

Q
log(dY/Y)=-2,05 m=-0, oo s

t*,=396 dY,=0,15 dY,/Y,=0,00871
1

# K N K¢reich

1
1Y,=18
Yn=3.6  Yw=90

LABJINDu7
Normfarbwertkontrast
Yoc=Yw - nc=100,
tLagaNDu7=[IN[(A 10+ A2nV)I/(A 20A0n)] (Yac/100Y<=Yso)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}yo=131,72, A=1,500, ¢=0,84

(Y/dY)g=114.61, A=0.017, A,=0,0048
(YIdY} 69,48 218, d=0.15

C,=(Y/AY)

Anwendungs-|
bereich

V=36 1 Yyy=90

LABJINDu7 relative Dreieckshelligkeit t*/t*,
t/t* u Ync‘YW nc_loox

t*LaBINDU7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t*\(3,6)=174 1 ,(18)=396*/(90)=616

Ut =185, Ax=1.500. 60,84

{19 =100, Ar=0,017, A,=0,0048

3 gt*(=0,43,t,=395,50 Y1

log[t*/t* ]=0, m,=0,33

1 Anwendungs-|
1 bereich

1Y,=18

Iog(AY/AY )

Anwendungs-

IMN36 . Yg=90

LABJNDuU7 relative
Normfarbwertdifferenz
Dy Yoc=Yw - nc=100,

t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

dYeg/dY,=4,35, Ay=1,500, ¢=0,8
Y,¢/dY,=1,00, A =0,017, A2= f o
dY3 ¢dY,=0,32 Y,£18, dY=0,15

>
-
t*,=398 dY,=0,15 dY,/(,=0 J087 ¢ ®

Anwendungs-
bereich

log [AYY) I (AYIY),]

Anwendungs-

LABJNDuUY relative

Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS

t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)

@YIYYAYIY,=(AgtAg Y)Y AYIYY]
(dY/Y)o/(dY =2 87 A,=1,500, G=0,84
(0]

8
(dY/YYg/(dY/Y);~1.00, A =0,017, A,=0,
(dY/Y%d(dY/Y 1,04 V218 dY=0.15

048

~
log[(dY/YY(dY/Y),]=0, m=-0,15 1
t*,=396 dY,=0,15 dY,/Y,=0,0087|  AIwendungs;

1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

LABJINDuUT relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

t*LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
(YVIAYY(YIAY ) =Y IYIAY )T oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,14, Ay=1,500, ¢=0,84

(Y/dY)/(Y/dY)=1.00, Ar=0.017, A=0,0048
(Y/dY%vd(Y/dY =0,60 Y,~18, d\=0.15

Anwendungs-|
bereich

1y,=18
=B L Yw=90




